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1-59. Table and graph shown below. D: — <x < a; R: =0 <y < oo; intercepts (0, —4) and (4 , 0) or (+1.59, 0)
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1-61. See below:

2 Aline, no variables are raized to a power.

< Substitute x= 0 and salve for y, substitute = 0 and salve forx. (3, 0) and (0,-2)
. Answers vary.

& The intercepts are (-9, 0) and (0, 6), graph shown belorw
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2(0.3) and (-3, 0, see graph below.

b. See part (a).
. These equations are equivalent,they just have different noation.

167.x%2.72 feet, y = 1.27 feet
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1:68. See below:
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1.9,

/= 4o and [+ 0= 22 orw = 4y =2; The length is 17.6 cm, and the widthis 4.4 cm.

170, See below:
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175, Solvex? + 2+
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176 See below:
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1177, The second line should be 3x =2 =10~ 4x = 4. x=





